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Löse die Gleichung: 
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40x + 120 + 2 – 40x = 202 – 2(5x + 20) 
 

122 = 202 – 10x – 40 
 
                122    = 162 – 10x     / + 10x 
 
   10x   + 122   = 162       / - 122 
 
 10x      = 40       / : 10 
 
     x      = 4 
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14x –  9  + 10     = 2 + 10x 
 
14x + 1       = 2 + 10x      / - 10x 
 
  4x + 1   = 2        / - 1 
 
  4x     = 1        / : 4 
 
   x     = 0,25 
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18x – 24 – 2x – 48 = 3 – 20 + 5x  
 
16x – 72     =  - 17 + 5x     / - 5x 
 
11x – 72     = - 17       / + 72 
 
11x       = 55       / : 11 
 
    x       = 5 
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14 + 16 – 2x = x – 12 + 12x 
 
30 – 2x  = 13x – 12       / + 2x 
 
30    = 15x – 12       / + 12 
 
42    = 15x        / : 15 
 
2,8    =  x 
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6,9)164(4,2)93(6,3)816(2,1 −−=+−− xxx     
 
19,2x    - 9,6 – 10,8x – 32,4 = 9,6x – 38,4 – 9,6 
 
8,4x     - 42        = 9,6x  - 48    / - 8,4x 
 
      - 42          = 1,2x  - 48    / +48 
 
      6      = 1,2x     / : 1,2 
 
       5      =  x 
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13,5x – 72  - 105 + 5x = 7x – 39 
 
18,5x  - 177     = 7x – 39     / - 7x 
 
11,5x – 177     =  - 39     / + 177 
 
11,5x        = 138      / : 11,5 
 
        x        = 12  
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18x – 5(4x – 8) – 90x + 60x + 120  = 0 
 
18x – 20x + 40 – 30x        + 120  = 0 
 
-32x + 160        = 0   / + 32x 
 
            160       = 32x  / : 32 
 
    5        = x 
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 70x – 112 – 3(x + 3)  = 9 + 2x 
 
 70x – 112 – 3x – 9 = 9 + 2x 
 
 67x – 121    = 9 + 2x    / + 121 
 
 67x     = 130 + 2x    / - 2x 
 
 65 x      = 130      / : 65 
 
      x     = 2 
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   12 + x – 2x + 6x = 10x – 2 + 2x 
 
 12 + 5x   = 12x – 2    / - 5x 
  
 12     = 7x – 2    / + 2 
 
 14     = 7x     / : 7 
 

2 = x 
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  8x    - 4     - 3x   - 2   = 28,5    -   4  - 16,5 – 9x 
 
  5x   - 6    =     8  - 9x      / + 9x 
 
14x  - 6    =      8       / + 6 
 
14x      =     14       / : 14 
 
     x     =      1 

 


